Functions - Properties - 01

Helght.
1. Arock is thrpwn from the top of a cliff by the sea. i
The graph shows the height of the rock as a TN AT B
function of the time since it was thrown i 1
a) For how long was the rock observed?
b,S C |
b) What was the maximum and minimum height observed?
. -—— o
Max=tw.  oNn=-2.5

€) What is the zero of this function and what doesit mean in‘concrete terms?

(o Ssec , Q%&Qmﬁ 0 el

d) What is the initial value and what does it mean in concrete terms?

B, N S A,

€) Over what intérval was the rock on an.upward trajectory?*

O

f) Over what interval was the rock on a downward trajectory?

A o

g) Over what interval did the rock possess a positive height value?

(D65

h) Over what interval did the rock possess a negative height value?

@5{\}

2. Aroller coaster takes ride-goers above the park and under the ground.

The graph shows the height of the passengers as a function of time since it
was thrown

a) What is the domain of the function?

ON\2.0)

b) What is the range of the function?
)

€) What are the zeros of the function and what do they represent in concrete
terms?

R,\2 71 sec _
C:%{j\*mc @ller Coastet (S o Tround)

d) What is the initial value and what does it mean in concrete terms? L_Q U‘ﬁ'

&2 3 \,\_Q/C%,(,\j' dg Coa Yer
) Over what interval was the coaster on an upward trajectory?
[©:>%) 0Tas,129)

f) Over what interval was the coaster on a downward trajectory?

(23,25)

g) Over what interval did the coaster possess a positive height value?

(©,6)

h) Over what interval did the coaster possess a negative height value?




Functions - Properties - 02

1. Adrone rises into the air, maintains a certain height, then
falls back to the ground and lands in a lake. Tﬂ' [
it [ ﬁ

a) What is the domain of the function? | i
What does it mean in concrete terms? 0 L--T_\ 2

Co‘\ﬂﬂmemm» fod emie
rises ard (ardS /! |-

b) What is the range of the function? ? ) B | \ T
i
1 R 5%).
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|
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What does it mean in concrete terms?

= Wi thhe Tt
C3.5) Z\é@(@mmﬁrh ey

¢) What are the zeros of the function and what do they represent’in concrete
terms?

4, grourd Lael o 4 RC

d) What is the initial value and what does it mean in concrete terms?

55 Dgre, Soudd of o T

'

e) Over what interval was the drone on an upward trajectory?

(o6]
f) Over what interval was the drone on a downward trajectory?

@ 5

g) Over what interval did the drone possess a positive height value?

©ud

h) Over what interval did the drone possess a negative height value?

Ud.s)

W

2. Aroller coaster takes ride-goers above the park and under the ground.

The graph shows the height of the passengers as a function of time (min}
since it started

a) What is the domain of the function? i i 1 =

(‘O‘ 8") _: us.:.:» ,1‘ “!'u)

L 4 N |

b) What is the range of the function? ] (9. 1.5
(4, 0) {5.4, 0)

FO-S__) 353 - o % ; : X

c) What are the zeros of the function and what do they represent in concrete
terms?

4. 5.4 grourd level oo ard

d) What is the initial value and what does it mean in concrete terms? (228 Ve
L S5s-ane. A0 mgm i, Qo&d@(

€} Over what interval was the coaster on an upward trajectory? @VW

©5) U (U328

f) Over what interval was the coaster on a downward trajectory? @ V'G.QJ_AQO

L5
&) Over what interval did the coaster possess a positive height value?@/’&_@,&.«ﬂ/)
@ M1 u (B 3]

h) Over what interval did the coaster possess a negative height value? @\/ Q_QAAQ:

(M, 5.4]




Functions - Properties - 03 2. Mr. Stewart decides to build a skateboard ramp in his back yard.

. iy . X He uses part of his in-ground pool in the design of the ramp.
1. A construction drill is turned on, raised into the air, then The graph shows the elevation of the skateboard rider as a function of time
placed into the ground.

ot : i (min) on the ramp | 3 f : T el
Height ioTe ] -e rz:’gm: i g : AT :
a) What is the domain of the function? ‘™ 7|71 a) What is the domain of the function? | | N 0
What does it mean in concrete terms?-["[;[- : \ What does it mean in concrete terms? 0 \ O o I ’}l HESEE
ey |- 44 - i | H e}
‘ lc ! { ] T
—\YY\€ ! \Dllb g ! Cb\ \':G'T'\nm_ "b Y ’L ~a - 5
oprGHhoN AT ComPUle, T H N
b) What is the range of the function? -9/ -1~ F N b) What is the range of the function? — - ot m\ W Tine )
What does it mean in concrete terms? /r = What does it mean in concrete terms? _| | 1 I N T{_ﬁr
X B } T 1 P i i
—of) Yoot dwrirg iy s C28)
— } O v A1
€) What are the zeros of the function and what do they represent in concrete
€) What are the zeros of the function and what do they represent in concrete

terms?
terms?

S@endS, it takeS (agec, \55eC
S\ afour‘d level gg}-\ / VieOCl gw))upd Love

. e . . o
d) What is the initial value and what does it mean in concrete terms? ‘) 1\0‘ d) Whatis the initial value and what does it mean in coneréfe serms?

— L, a\\ stafted  bm Eelow gro S, the kot &) (amp.
€) Over what interval was the drill on an upward trajectory? €) Over what interval was the coaster on an upward trajectory?
O ©z)v Ciz s, 9]

)8
f) Over what interval was the drill on 2 downward trajectory? f) Over what interval was the coaster on a downward trajectory?
CoNs \2,2.5)
)
Over what interval did the coaster poss itive height value?

g) Over what interval did the drill possess a positive height value? Diovenwts P S g pesi el ht value

G104 OB L Cis,1F)
h) Over what interval did the drill possess a negative height value? h) Over what interval did the coaster possess a negative height value?

0,3y V(4 (10,15)



Functions - Properties - 04

1.  Asubmarine periscope is turned on under water and raised into the air.

A torpedo is fired (at time 0 seconds), then the periscope.is returned
under water. H-eL

a) What is the domain of the function?
What does it mean in concrete terms?

= onS) the trmatid | /NS

IS oA B . i

What does it mean in concrete terms? /

-2
=25 -F;%o*n Qm Ur\er &D’\ Movex

¢) What are the zeros of the function and what do they represent?
—4,Q5eec the e
wan G Auxfoce w Gl

d) What is the initial value of this function? What does it mean? 1 \
5ty thi Wb ths torpedo S{ue
€) Over what interval was the periscope on an upward trajectory?
SOV 4]

f) Over what interval was the periscope on a downward trajectory?
@) 0 Ce )

g) OE what interval was the periscope height constant?

h) Over what interval did the periscope possess a positive height value?

(~4,a.5]

i) Over what interval did the periscope possess a negative height value?

E (0)’"4'] O @‘S’ l@

'1

b) What is the range of the function? 3 /j v T \
|
|
|

—Hho oL

2. Wesley builds a skateboard ramp in his back yard. He uses part of his in-

ground pool in the design of the ramp. To ride on the ramp, Wesley jumps
from the roof of his house. He makes contact with the ramp at time 0

seconds. The graph shows Wesley's elevation as a function of time (seconds)
on the ramp

a) What is the domain of the function?
What does it mean in concrete terms?

C2, 10)—+the

o e Nde
b) What is the range of the function?
What does it mean in concrete terms?

Cloc) cho- ABETT] T

c) What are the zeros of the funcnon"
Q)Ic Ssec ““Hwe Dvwe e S GX

d) What is the initial value and what does it mean in concrete terms"
B 1S \/\_Q_/L%Ld’ '
e) fver what interval is Wesley on an upward trajectory?

\S)

f) Over whatinterval is Wesley on a downward trajectory?

»7"~D

g) Over what interval does Wesley possess a positive height value?
2 s

h) Over what interval does Wesley possess a negative height value?

(2 65]
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Functions ~ Properties - 05 - Practice Test

1. Anunderground oil drill is turned on and lowered into the sea.
The drill is turned on when the time is at 0 seconds.

a) What is the domain of the function? b
How long is the drill being observed? N

NrCI FYNY t\.WQ.;f'

m o\ A\ \s \OU»E! a
b) Wt%ﬁﬁ%e an¢

What elevation does it reach?

C\5) tha D\ufa

) What are the zeros of the function and what do they represent?

Z,t05ec e drill (S ar

d) What is the initmls function? What does it mean?

'-})—UNQ, et dsll 16 turned on

OO oo &, .

e) Ca what |nterval was the drill on an upward trajectory?
f‘: OQver what mterval was the drill on a downward trajectory?

g) Over hat mterval was the drill height constant?

o)

h) Over what interval did the drill possess a positive height value?

€ - V0]

i} Over what interval did the drill possess a negative height value?

E2.:29)

2. An amusement park ride at Disney takes passengers above and below ground
level. The graph shows the riders’ elevation (m) as a function of time
{seconds) on the ride. : W T 4
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a) What is the domain of the function? How long does the ride last?

(0291 bbme q ndwe

b) What is the range of the function? What does it mean in real terms?

E 0 g q Nde
€) What are the zeros of the function?

Q5,35 80,29 sec
d) What is the initial value?

S

€) Over what interval is the ride on an upward trajectory?
[0, IO 13 0 55 56

f) Over what interval i Ethe ride on a downward tra;ectory"

O, #1710 245

g) Over what interval does the ride possess a positive height value?
(©,25008520)

h) Over what interval does the ride possess a negative height value?

&-5,9M 20,29)
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